
Instructions for the following Great Lakes EN Enclosures:
GL910EN-4048, GL910EN-4042, GL910EN-3248, GL910EN-3242,
GL840EN-4048, GL840EN-4042, GL840EN-3248, GL840EN-3242,
GL780EN-4048, GL780EN-4042, GL780EN-3248, GL780EN-3242

EN Series Enclosures
Installation Instructions

(UL60950-1/UL2416 EN Series Equipment Cabinet/ Rack)

1-866-TRY-GLCC (879-4522)
WeRackYourWorld.com



PREFACE
This manual is provided to prevent service personnel from committing an act 
that results in the risk of fire, electric shock, or injury to persons. Only trained 
service personnel should receive, unpack, and assemble the Enhanced 
Networking Enclosure (UL60950-1 EN Series Equipment Cabinet/ Rack). 
In addition, only trained service personnel should install equipment in the 
EN Enclosures.
SAFETY SYMBOLS USED IN THIS MANUAL
This manual provides general safety guidelines to be observed during 
installation, operation, and maintenance of the EN Enclosure.

WARNING: Failure to follow directions in the warning could result in injury to 
persons or loss of life.

CAUTION: Failure to follow directions in the caution could result in damage to 
equipment or storage data.
SAFETY CONSIDERATIONS

WARNING: Improper handling and use of the EN Enclosure could result in 
equipment damage, serious injury, or possible death.
Only trained service personnel should be used to remove the Enclosure from 
the pallet. Also, be sure you have a sufficient number of service personnel. Do 
not attempt to move EN Enclosures by yourself.
Only UL® Listed ITE (Information Technology Equipment) units should be 
installed inside the EN Enclosures.
Be sure to read and follow all individual manufacturer equipment manuals for 
safety and installation instructions.
The EN Enclosure was not evaluated as a fire Enclosure.
Proper spacing is required when installing electrical equipment to avoid 
electrical shock. Maintain minimum spacing between the accessories and 
components and the computer Enclosure assembly for safe operation of the 
equipment when installed in accordance with the National Electric Code ANSI/
NFPA 70-1999.
The ambient temperature operating range for the EN Enclosure and 
accessories is +50 to +95° F (+10 to +35° C).
The non-operating temperature is -4 to +140° F (-20 to +60° C).

2



3

WHAT’S INCLUDED
• 	 EN unit (assembled; including GR101EN Grounding Kit) with eight levelers
•  	Keys as needed (depending on configuration)
• 	 (50) M6 cage nuts (3/8" square) and M6 screws or (50) #10-32 screws 
	 (depending on configuration)
• 	 This user’s manual

SERVICE
The EN Enclosure should be repaired by personnel trained by Great Lakes, 
or returned to Great Lakes for repair or replacement. Contact Great Lakes 
Technical Support at 814.734.7303 or at werackyourworld.com

Weight Capacity: 2000 lb.

This user’s manual applies to the following Great Lakes 
enclosures:
Part No.	 H	 W	 D	 RMU
GL910EN-4048	 91	 40	 48	 48

GL910EN-4042	 91	 40	 42	 48

GL910EN-3248	 91	 32	 48	 48

GL910EN-3242	 91	 32	 42	 48

GL840EN-4048	 84	 40	 48	 45

GL840EN-4042	 84	 40	 42	 45

GL840EN-3248	 84	 32	 48	 45

GL840EN-3242	 84	 32	 42	 45

GL780EN-4048	 78	 40	 48	 42

GL780EN-4042	 78	 40	 42	 42

GL780EN-3248	 78	 32	 48	 42

GL780EN-3242	 78	 32	 42	 42



44 5

EN CONFIGURATIONS 
All sizes of the EN Enclosures are available in three configurations: as a 
complete Enclosure, with doors only, and just a frame. Rails can be either 
tapped #10-32 or  3/8" sq. (M6)

The GL840ENT-3242MSS (pictured) 
includes #10-32 rails with cable 
management fingers on all rails,  
8 levelers, solid sides, solid top,  
mesh front door, split mesh rear door, 
and grounding kit.

FRONT VIEWRIGHT SIDE VIEW

TOP VIEW

FRONT VIEW
DOORS AND SIDES REMOVED

TOP VIEW

SECTION B-B
DOORS AND SIDES REMOVED

SECTION A-A

DETAIL  C

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

AA

BB

CC

DD

DWG NO:REV

SHEET:OF

DRAWN

CHECKED & APP.

TITLE

DRAWING NOT TO SCALE

PART NUMBER:

QTY PER UNIT:1
MATERIAL TYPE:

MATERIAL GAUGE:

FINISH:

GREAT LAKES CASE & CABINET CO., INC.
P.O. BOX 551 EDINBORO, PA 16412

PHONE (814) 734-7303 FAX (814) 734-3907
E-MAIL glcc@greatcabinets.com

Use of this document is subject to
a confidentiality and nondisclosure
agreement with Great Lakes Case
& Cabinet Co., Inc. (GLCC) and may
not be reproduced, disclosed or
utilized in whole or in part without
prior written authorization from GLCC.

NOTICE:

TOLERANCE UNLESS OTHERWISE NOTED:
ANGULAR +/- 1

.XXXX +/- .010
.XXX +/- .015

.XX +/- .030
 .X FOR REF. ONLY

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN INCHES

DIMENSIONAL LIMITS APPLY
AFTER APPLICATION OF FINISH

INTERPRET DRAWING PER ASME Y14.5M-1994

THIRD ANGLE
PROJECTION

DATE

DATE1 1 
CD2/8/2011

WSS2/8/11SEE CHART

SEE CHART

 

 

 

EN FRAME 84"H x 32"W x 42"D W/ DUAL HINGE
PERF FRONT DOOR, SPLIT PERF REAR DOOR,

SOLID SIDES AND 45 RU RAILS

BB

A

A

C

78
.7
5 
(4
5 
R
M
U
)

42.00

18.31
C-TO-C

32.00

33.27 W/
EXTERNAL SIDES

17.75

TOP PANEL OPENING
(273 sq.in.); SOLID,
VENTED, OR WITH

EXHAUST FANS
UP TO 1100 CFM.

84
.0
0

86
.0
1 
- 8
8.
13

O
N
 L
E
V
EL
E
R
S

SPECIFICATIONS:
 
CONFIG. # KIT INCLUDES: QTY. 1 8401ENX3242, BASE FRAME UNIT WITH RAILS

     QTY. 1 8402EN32SM, SPLIT MESH REAR DOOR ASSEMBLY
     QTY. 1 8402ENM32, MESH FRONT DOOR ASSEMBLY
     QTY. 2 8410421ENLS, SOLID LIFT-OFF SIDE PANEL ASSEMBLY

 
DIMENSIONS : 84.0"H x 32.0"W x 42.0"D
 
RACK SPACES : 45 RMU w/ NUMBERED RMU INDICATORS, 19" EIA 310-D COMPLIANT.
 
COLOR : DURABLE TEXTURED BLACK POWDER COATING
 
CONSTRUCTION :  FULL WELDED FRAME WITH RECESSED #12 GA CORNER POSTS
                                1 PAIR FIXED #12 GA RAILS, 1 PAIR ADJUSTABLE DEPTH #12 GA RAILS
                                DOORS #16 C.R.S. & SIDE PANELS LIGHT-WEIGHT ALUMINUM
 
HARDWARE : PACKAGE OF QTY-50; #12-24 SCREWS  -OR-  M6 SCREWS W/ CAGE NUTS, INCLUDED.

SPLIT MESH REAR DOORS
PART # 8402EN32SM

30
.8
4

14
.9
1

14
.9
1

22.95

INDEPENDENT MOUNTING LOCATIONS
FOR LADDERRACK BRACKETS OR

TOP MOUNTED CABLE TROUGHS

2.63 x 18.50 CABLE PASS
THROUGH KNOCKOUT
(48.56 sq.in.), 4 PLACES

4.25 x 17.25 CABLE PASS
THROUGH KNOCKOUT
(73.31 sq.in.), 2 PLACES

32
.0
0

36.86
28.80

42.00

22
.9
5

6.50 10.53 - 23.75
R. RAIL DEPTH

39.43 LEVELER MTG.

26
.5
0

LE
V
E
LE
R
 M
TG
.

.6
3

.6
3

.5
01.75 TYP.

19" EIA 310-D COMPLIANT
REF. PART # FOR: 
#12-24 TAPPED EQUIP. MTG. HOLES
   -OR-
3/8" SQUARE EQUIP. MTG. HOLES
W/ M6 HARDWARE

LEVELER MTG.
LOCATIONS

LEVELING GLIDES (8 INCLUDED)
1/2-13 UNC THREADED HOLES

CONFIG PART #
840ENT3242MSS840EN3242MSS

EN FRAME 84"H x 32"W x 42"D WITH 2 PAIR OF 45 RMU 
#12-24 TAPPED RAILS, CABLE MANAGMENT FINGERS 
ON ALL RAILS, SOLID TOP, DUAL HINGE PERF FRONT 

DOOR, SPLIT PERF REAR DOOR AND SOLID SIDES

EN FRAME 84"H x 32"W x 42"D WITH 2 PAIR OF 45 
RMU M6 RAILS, CABLE MANAGMENT FINGERS ON 
ALL RAILS, SOLID TOP, DUAL HINGE PERF FRONT 
DOOR, SPLIT PERF REAR DOOR AND SOLID SIDES

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A
A

B
B

C
C

D
D

FIXED REAR POST
NOT DEPTH ADJUSTABLEFIXED FRONT

POST AND RAIL
19" EIA MOUNTING IN

THIS LOCATION
NOT DEPTH ADJUSTABLE

(SEE MOUNTING RAILS)
 

CM-47
PLASTIC CABLE

MANAGEMENT FINGERS
COME MOUNTED ON FIXED

FRONT POSTS IN ALL EN
ENCLOSURES

CONFIGURATIONS

ADJUSTABLE REAR RAIL
19" EIA MOUNTING IN THIS LOCATION
DEPTH ADJUSTABLE
(SEE MOUNTING RAILS)
 

CM-47
PLASTIC CABLE MANAGEMENT FINGERS 
COME MOUNTED ON REAR RAILS
IN ALL  

PDU MOUNTING
BRACKETS
TWO SETS AND VERTICALLY
ADJUSTABLE COMES STANDARD
ON ALL CONFIGURATIONS
(SEE POWER STRIP MOUNTING)

 CABINET/RACK TOP CAP
FOR SECURITY AND 

DOOR/SIDE PANEL
MOUNTING

ADJUSTABLE LEVELERS
EIGHT LOCATIONS AND HEIGHT
ADJUSTABLE TO LEVEL ENCLOSURE
(SEE ADJUSTABLE LEVELER MOUNTING)

SHOWN: GL840NT-3242-FK - 84"H x 32"W x 42"D EN ENCLOSURE WITH FINGERS

"OUTRIGGERS"
FOR STABILITY AND

DOOR/SIDE PANEL
MOUNTING

 

EN EQUIPMENT

 CABINET/RACK
EN EQUIPMENT

ENCLOSURES

EN ENCLOSURE FEATURES



4 5

The GL840ENT-3242MSS-NS 
(pictured) includes #10-32 rails with 
cable management fingers on all rails, 
8 levelers,  solid top, mesh front door, 
split mesh rear door, and grounding kit.

The GL840ENT-3242-FK (pictured) is an 
Enclosure frame (#10-32 rails with cable 
management fingers on all rails), 8 levelers, 
and grounding kit.

FRONT VIEW
RIGHT SIDE VIEW

TOP VIEW

SECTION B-B
DOORS AND SIDES REMOVED

DETAIL  C

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

AA

BB

CC

DD

DWG NO:REV

SHEET:OF

DRAWN

CHECKED & APP.

TITLE

DRAWING NOT TO SCALE

PART NUMBER:

QTY PER UNIT:1
MATERIAL TYPE:

MATERIAL GAUGE:

FINISH:

GREAT LAKES CASE & CABINET CO., INC.
P.O. BOX 551 EDINBORO, PA 16412

PHONE (814) 734-7303 FAX (814) 734-3907
E-MAIL glcc@greatcabinets.com

Use of this document is subject to
a confidentiality and nondisclosure
agreement with Great Lakes Case
& Cabinet Co., Inc. (GLCC) and may
not be reproduced, disclosed or
utilized in whole or in part without
prior written authorization from GLCC.

NOTICE:

TOLERANCE UNLESS OTHERWISE NOTED:
ANGULAR +/- 1

.XXXX +/- .010
.XXX +/- .015

.XX +/- .030
 .X FOR REF. ONLY

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN INCHES

DIMENSIONAL LIMITS APPLY
AFTER APPLICATION OF FINISH

INTERPRET DRAWING PER ASME Y14.5M-1994

THIRD ANGLE
PROJECTION

DATE

DATE1 1 
CD2/8/2011

WSS2/8/11SEE CHART

SEE CHART

 

 

 

EN FRAME 84"H x 32"W x 42"D AND 45 RMU
RAILS

BB

C

32.00

TOP PANEL OPENING (273 sq.in.)
 SOLID, VENTED, OR WITH EXHAUST

FANS UP TO 1100 CFM.

84
.0
0

86
.0
1 
- 8
8.
13

O
N
 L
E
V
EL
E
R
S

SPECIFICATIONS:
 
CONFIG. # KIT INCLUDES: QTY. 1 8401ENX3242, BASE FRAME UNIT WITH RAILS

   
DIMENSIONS : 84.0"H x 32.0"W x 42.0"D
 
RACK SPACES : 45 RMU w/ NUMBERED RMU INDICATORS, 19" EIA 310-D COMPLIANT.
 
COLOR : DURABLE TEXTURED BLACK POWDER COATING
 
CONSTRUCTION :  FULL WELDED FRAME WITH RECESSED #12 GA CORNER POSTS
                                1 PAIR FIXED #12 GA RAILS, 1 PAIR ADJUSTABLE DEPTH #12 GA RAILS
 
HARDWARE : PACKAGE OF QTY-50; #12-24 SCREWS  -OR-  M6 SCREWS W/ CAGE NUTS, INCLUDED.

INDEPENDENT MOUNTING LOCATIONS
FOR LADDERRACK BRACKETS OR

TOP MOUNTED CABLE TROUGHS

2.63 x 18.50 CABLE PASS THROUGH
KNOCKOUT (48.56 sq.in.), 4 PLACES

4.25 x 17.25 CABLE PASS THOURGH
KNOCKOUT (73.31 sq.in.) 2 PLACES

32
.0
0

36.86
28.80

42.00

22
.9
5

39.43 LEVELER MTG.

26
.5
0

LE
V
E
LE
R
 M
TG
.

LEVELER MTG.
LOCATIONS

LEVELING GLIDES (8 INCLUDED)
1/2-13 UNC THREADED HOLES

CONFIG PART #
840ENT3242-FK840EN3242-FK

EN FRAME 84"H x 32"W x 42"D WITH 2 PAIR 
OF 45 RMU #12-24 TAPPED RAILS AND 

CABLE MANAGMENT FINGERS ON ALL RAILS

EN FRAME 84"H x 32"W x 42"D WITH 2 PAIR 
OF 45 RMU M6 RAILS AND CABLE 

MANAGMENT FINGERS ON ALL RAILS

42.00
6.5010.53 - 23.75

REAR RAIL DEPTH
22.95

78
.7
5 
(4
5 
R
M
U
)

18.31

17.75

19" EIA 310-D COMPLIANT
REF. PART # FOR: 
#12-24 TAPPED EQUIP. MTG. HOLES
   -OR-
3/8" SQUARE EQUIP. MTG. HOLES
W/ M6 HARDWARE

1.75 TYP.

.6
3

.6
3

.5
0

INSTALLATION
Receiving, Unpacking, and Removing the EN Enclosure from 
the Pallet 
Inspect and report any damage before receiving. Unpack the EN Enclosure by 
carefully removing the corrugated carton and corners. Avoid damaging the EN 
Enclosure when removing packaging.

WARNING: Only trained service personnel should be used to remove the 
Enclosure from the pallet. Also, be sure you have a sufficient number of service 
personnel. Do not attempt to move the EN Enclosures by yourself.

EN CONFIGURATIONS (continued) 



SINGLE MESH DOOR
The EN single mesh door comes with two swing handles; the door can open 
to the left or right. The rods running the length of the doors act as hinges when 
in the closed position. See ADJUSTABLE LEVELER MOUNTING (page 12) to 
adjust door latch function, if needed.

CAUTION: It is imperative that the door is closed and LATCHED PROPERLY 
BEFORE the opposite handle is turned to the open position. AFTER CLOSING 
(AND BEFORE OPENING) ALWAYS visually check to ensure the door is flush 
with the Enclosure at the TOP and BOTTOM. Only at this point can you turn 
the opposite handle.

OPERATING DOOR HANDLE
The door swing handles have been installed at the manufacturer. No additional 
assembly is required. To operate the swing handle, lift up at the bottom of the 
handle then swing the handle toward center of door to open. The handle must 
be kept in this position to close the door. Return the handle to the initial position 
and use the key provided to lock the handle. The lock on the side panels will 
accept the same key. 

Loading Equipment

WARNING: Only install equipment after the EN Enclosure has been properly 
secured. Do not move the EN Enclosure assembly while loaded.

Once in place at the desired/intended location, deploy the leveling feet for 
maximum stability.

Rated or maximum load capacity for the EN Enclosure is 2000 pounds on the 
floor or on leveling glides.

To maintain a uniform distribution of the mechanical load in the EN Enclosure, 
load the heaviest equipment first, at the bottom of the EN Enclosure and load 
the lighter units at the top.

6

WARNING: Be careful when moving Enclosures before installation. Sudden 
stops and starts, excessive force, obstructed routes, and uneven floor surfaces 
may cause the EN Enclosure to topple over.



7

Door Shut; left and right 
handles completely 
latched closed

Door Opened 
with right handle; 
left handle 
completely 
latched closed  

Door Opened with left 
handle; right handle 
completely latched closed  



8

SINGLE MESH DOOR: REINSTALLATION
1.	Ensure that both swing handles have remained and are still in 	the open 	
	 position.

2.	Confirm the shoulder washers have remained and are in the top and bottom 	
	 frame of the EN Enclosure.

3.	Lift the door and gently rest the center of door on your foot. Swing both 	
	 handles to the closed position. Ensure the weight of the door does not rest 	
	 on the rods that protrude out of the bottom of the door.

4.	Lift the door with both hands. Align the rods (one on each side of door) 	
	 protruding from the bottom of the door and insert them through the shoulder 	
	 washers in the base of the frame. 

CAUTION:  Unplug the quick-disconnect end of the bonding jumper wire from 
the mesh door prior to removing the mesh door. Be cautious and use both 
hands when removing all EN doors and side panels. 
1.	Place one hand in the center top of door and hold tightly.

2. Turn both handles to the open position
	 (This disengages the rods from the 
	 EN Enclosure that 
	 act as both the hinges and 
	 latches for the door).

3.	The door will now be held 
	 in place by only your hand. 
	 Slowly allow the door to 
	 fall towards you and lift to 
	 remove.

CAUTION: 
To prevent damage to the 
handle and rods, leave 
handles in the open 
position at all times when 
the door is not installed.

SINGLE MESH DOOR: REMOVAL



5.	The door should still be unattached at the top of the EN Equipment Cabinet/	
	 Rack and will pivot at the base of the door slightly. Put one hand in the top 	
	 center of the door. With your free hand, turn one handle to the open position. 	
	 Gently push the door inward.

6.	Slowly engage that same handle back into 
	 the closed position.

7.	Check to make sure that half of the 
	 door is flush with the EN Equipment 
	 Cabinet/Rack on both 
	 the TOP AND BOTTOM.

8.	You can now open the 
	 opposite handle completely 
	 and the door will function 
	 properly. Close the opposite  
	 side normally. Reconnect the  
	 quick-disconnect end of the  
	 bonding jumper wire to electrically  
	 bond the side panel to the base of  
	 the EN Enclosure.

SINGLE & SPLIT DOORS: FRONT/REAR MOUNTING
Split mesh doors can be mounted on the front or rear of any EN series 
Enclosure and are standard on 40"W EN Enclosures. Single mesh doors can 
be mounted on front or rear of 32"W  EN Enclosures only.

All doors mount on shoulder washers. Each door, if ordered separately, will 
come with corresponding shoulder washers (see drawings below). If doors 
come installed on the EN Enclosure and you wish to move the location of the 
doors, the shoulder washers must be moved WITH the door. 

ASSOCIATED SHOULDER WASHER
FOR SINGLE MESH DOOR

ASSOCIATED SHOULDER WASHER
FOR SPLIT MESH DOOR

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

Ø1.00" OD
Ø.375" ID

Ø.75" OD
Ø.28" ID

9



SPLIT MESH DOOR REMOVAL/INSTALLATION

CAUTION: Unplug the quick-disconnect end of the bonding jumper wire from 
the mesh door prior to removing the mesh door.Use both hands when removing 
all EN doors and side panels. 
1.	 Use swing handle to open both doors. Doors now hinge at the top and base 	
	 on "pins."

2.	 Using one hand, hold the door in the center and disengage the top pin by 	
	 squeezing it downward. 

3.	 Allow the door to slightly fall forward. Gently lift the door out of its washer.

4.	 Set the door aside and repeat the procedure for the second door.

CAUTION: To prevent damage to the handle and rods, keep them in the open 
position at all times when the door is not installed.

5. To reinstall, reverse the process.

6. Reconnect the quick-disconnect end of the bonding jumper wire to 		
    electrically bond the mesh door to the base of the EN Enclosure.

10

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D



SIDE PANEL REMOVAL/REINSTALLATION 

CAUTION: Unplug the quick-disconnect end of the bonding jumper wire from 
the side panel prior to removing the side panel. The side panels are secured 
to the EN Enclosure with two quarter turn, keyed locks. Use both hands when 
removing all EN doors and side panels.

11

To remove the side panel, be sure to support the panel with one hand, then use 
provided keys to turn both locks. Tilt the top of the side panel out slightly and 
lift the panel until it is free. To install the side panel, reverse the process. Make 
sure slots on the side panel engage with the two tabs at the bottom of the 
frame. For ease, insert the key into at least one lock before lifting the panel and 
aligning onto tabs at base. Once installed, lock side panel in place. Reconnect 
the quick-disconnect end of the bonding jumper wire to electrically bond the 
side panel to the base of the EN Enclosure.

If you wish to install a side panel in a new location, be sure that the side panel 
catch brackets that are mounted to the outriggers of the EN Enclosure move 
with the side panel to the new desired location. Side panel catch brackets are 
held into place with four #10-32 screws.

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

Phillips Head 
Screws #10

Side Panel 
Catch BracketOutermost 

Leveler

DO NOT transport an enclosure with casters while side panels are installed.



12

ANCHOR MOUNTING THRU HOLE
The middle .75 dia. thru holes (the same holes used to bolt the EN Enclosure 
to the pallet) are for securing the EN Enclosure to the floor. 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

0.75Ø ANCHOR
MOUNTING HOLES

ADJUSTABLE LEVELER MOUNTING 
On the bottom of the cabinet there are eight threaded holes, four in the 
outermost corners and four under the main vertical support posts, behind 
the EIA mounting of the EN Enclosure. All are threaded 1/2-13 thds. All eight 
levelers will come installed. The cabinet level can be adjusted with the use of a 
3/4" open-end wrench or a 5/16" closed wrench or socket from inside of the EN 
Enclosure.

CAUTION: The four innermost levelers, under the main vertical support posts, 
must contact the floor and be adjusted to ensure the cabinet/rack is level 
and square prior to adjusting the four outermost levelers. Single mesh door 
adjustment can be done by raising or lowering the outermost levelers only. Do 
not overextend the leveling glides past 3". This could remove the leveling glide 
completely causing the EN Enclosure to be unstable. (It is suggested to tip EN 
Enclosure over if desired to avoid this risk.) 

Outermost 
Leveler

        0.75Ø Anchor 
        Mounting Holes

Innermost 
Leveler



TOP PANEL MOUNTING
Removing the top panel kit 
can be done by removing the 
four #10-32 x 1/2" lag screws. 
Then simply lift the top panel 
off. There are 6 top panel 
options for the EN Enclosures:

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

AA

BB

CC

DD

TPEN-S 
Solid

TPEN-P    
Perforated

TPEN-F    
Three, 75 
CFM Fans

TPEN-F10  
One, 10" 550 
CFM Fan

TPEN-2F10    
Two, 10" 550
CFM Fans

TPEN-B   
Brush 
Grommet

MOUNTING RAIL KITS
Each EN Enclosure has two pair of 12 gauge powder coated vertical mounting 
rails (19" EIA 310-E Compliant). Universal cage nut rails 
(M6, 3/8" square) and tapped #10-32 rails are available.

RAIL ADJUSTMENT 
Front EN rails are fixed at a 
depth of 6.5" (42"D EN) or 
8" (48"D EN). Rear rails are 
attached using 1/4-20 carriage 
bolts and 1/4-20 hex nuts with 
serrated flange. By loosening 
the top, middle and bottom 
bolts using a 3/8" socket set, 
the rails can be adjusted 
infinitely front to back. Rack 
Mount Units (RMU) are marked 
on all rails for easy equipment 
mounting. Flexible Mounting 
Profile (FMP) holes and vertical 
cable tie down slots can be 
found on all rails.

13

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

FMP

1/4-20x1/2"LG 
Carriage Bolt

Support Bar

Locking 
Flange 
Hex Nut 
1/4-20 tds

Front to
 Rear

Adjustable
Rear 
Mounting 
Rail



POWER STRIP MOUNTING KIT
For your convenience, we have provided mounting brackets on the left and 
right rear posts of the EN Enclosure for vertical mounting of power strips. 
These brackets allow you to mount a PDU with button mounting at a variety of 
spacings. Diamonds in posts indicate 44" & 61.25" center to center mounting 
(See drawing). Typically, any power strip shipped with an EN Enclosure will 
come installed by the manufacturer. If no power strip has been ordered with the 
Enclosure, brackets will come standard at 61.25" spacing. To adjust Universal 
Power Strip Brackets in an EN Enclosure, measure the required mounting 
distance top to bottom, install brackets, then install power strip. Brackets will be 
held onto posts in 2 or 3 mounting locations with M6 hardware (M6-1 x 12mm 
Phillips head screws and M6-1 keps style locknuts).

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

POWER
When using power distribution units (PDUs), each PDU should be connected 
to a committed branch circuit that is rated for the continuous load of all the 
equipment connected. When not using a PDU, each piece of equipment should 
be connected to a dedicated branch circuit.

14



PLASTIC CABLE MANAGEMENT FINGER KITS, 
CM-47, ENC-K24, & ESC-K12
All EN Enclosures come standard with one ENC-K24 kit; this kit consists of 
24, CM-47 plastic cable management fingers (7 RMU). The kit will come fully 
installed (using threaded screws) on the face of all four vertical posts of the 
EN Enclosure. Additional ENC-K24 kits, or single CM-47 fingers can also be 
ordered. Additional kits will come with threaded screws and plastic rivets. 
Mounting location of fingers will determine whether screws or rivets are used. It 
is recommended that each CM-47 be installed using 3 points of attachment. 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

COMES STANDARD INSTALLED WITH
#12-24 x 1/2"L SELF TAPPING SCREWS

IN TAPPED HOLES

TOOL-LESS PLASTIC RIVETS IN OTHER
FLEXIBLE MOUNTING PROFILE LOCATIONS

IN Ø0.25 THROUGH HOLES

These fingers can be 
moved and configured to 
many different locations to 
achieve a number of cable 
management uses.

CM-47 VERTICAL 
CABLE MANAGER KIT
A vertical cable manager can be created with 
six additional finger sections installed on the 
SIDE of the vertical posts (toward side panel). 
The ESC-K12 is a kit of 12 CM-47s and has 
enough sections to create 2 vertical cable 
managers. 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

COMES STANDARD INSTALLED WITH
#12-24 x 1/2"L SELF TAPPING SCREWS

IN TAPPED HOLES

TOOL-LESS PLASTIC RIVETS IN OTHER
FLEXIBLE MOUNTING PROFILE LOCATIONS

IN Ø0.25 THROUGH HOLES

15



16

HORIZONTAL CABLE 
MANAGER KIT
The Horizontal Cable Manager routes 
cables from the front to the rear of the 
Enclosure. The manager is installed 
using 3, tool-less plastic rivets on each 
side of the manager. For 42"W EN 
Enclosures, use the HCM-EN42; for 
48"W Enclosures, use the HCM-EN48.

Mount 2 vertical 
cable managers 
toward one another 
in ganged EN 
Enclosures for a 
large intra-cabinet 
vertical cable trough.

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

A

4.
23

11.31

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

A

4.
23

11.31

OVERHEAD CABLE TROUGH KIT
When ordered with the EN Enclosure, the overhead cable trough ships 
assembled, but not installed. The top of the EN Enclosure has a variety of 
mounting holes. Place the trough where you require cable routing. For 32"W 
EN Enclosures, use the TCT32; for 40"W Enclosures, use the TCT40.

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

#10-32 X 1/4" SELF TAPPING
MOUNTING SCREWS
QTY. 4

OVERHEAD CABLE TROUGH
MOUNTING HOLES

QTY. 4

DETAIL  A

DETAIL  B

DETAIL  C

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

DWG NO: REV

SHEET: OF

DRAWN

CHECKED & APP.

TITLE

DRAWING NOT TO SCALE

PART NUMBER:

QTY PER UNIT: 1
MATERIAL TYPE:

MATERIAL GAUGE:

FINISH:

GREAT LAKES CASE & CABINET CO., INC.
P.O. BOX 551 EDINBORO, PA 16412

PHONE (814) 734-7303 FAX (814) 734-3907
E-MAIL glcc@greatcabinets.com

Use of this document is subject to
a confidentiality and nondisclosure
agreement with Great Lakes Case
& Cabinet Co., Inc. (GLCC) and may
not be reproduced, disclosed or
utilized in whole or in part without
prior written authorization from GLCC.

NOTICE:

TOLERANCE UNLESS OTHERWISE NOTED:
ANGULAR +/- 1�
.XXXX +/- .010
.XXX +/- .015
.XX +/- .030

 .X FOR REF. ONLY

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN INCHES

DIMENSIONAL LIMITS APPLY
AFTER APPLICATION OF FINISH

INTERPRET DRAWING PER ASME Y14.5M-1994

THIRD ANGLE
PROJECTION

DATE

DATE 2 2 0PCS 10/16/2012

WSS 10/16/12 I017674

HCMEN48X200

-

-

-

HORIZONTIAL CABLE MANAGEMENT FOR 42"D
"EN" SERIES - COMPLETE KIT

EST. WEIGHT : 
N/A

2.625

2.
50

0

.7
13

PDU BRACKET

TOOL-LESS 
PLASTIC 
RIVETS



17

LADDER RACK BRACKET KIT
All tops have pre-drilled cable runway attachment holes to install ladder rack 
brackets. 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

A

5/16"-18 x 3"
"J" BOLT

LADDER RACK
BRACKET

5/16"-18 FLAT
WASHER

5/16"-18
HEX NUT

5/16"-18 x 3/4"
HEX BOLT

5/16"-18
HEX NUT

5/16"-18 FLAT
WASHER

Each ladder rack bracket part number is a single ladder rack bracket 
with installation hardware; two brackets are required per enclosure. 
Once two brackets are installed, ladder rack can be attached. Height 
adjustable brackets can be used when different height enclosures 
require ladder rack across them. Fixed height brackets can be used 
when all enclosures in a row are the same height (detail shows fixed 
height bracket installed). 

Available ladder rack brackets include:

LRB-12A1	 Single Height Adjustable Bracket (6.5"-11.5") 
		  to support 12"W ladder rack; 
LRB-12A2	 Single Height Adjustable Bracket (14"-24") 
		  to support 12"W ladder rack 
LRB-24A1	 Single Height Adjustable Bracket (6.5"-11.5") 
		  to support 12-24"W ladder rack 
LRB-24A2	 Single Height Adjustable Bracket (14"-24") 
		  to support 12-24"W ladder rack
LRB-12	 Single Fixed Height Bracket (3") 
		  to support 12"W ladder rack
LRB-24	 Single Fixed Height Bracket (3") 
		  to support 12-24"W ladder rack



CASTER MOUNTING

CAUTION:
To install casters or levelers, the enclosure may need to be tipped onto 		
its side. The enclosure can be very heavy, several people will be required in 	
this process. Please practice safe lifting techniques. REMOVE ALL doors and 
sides prior to tipping the enclosure on its side to 	prevent damage.

1.	 In each 7208EN Caster kit, there are four plate casters with mounting 		
	 brackets pre-installed. All caster bracket assemblies are identical.
2. To install casters without tipping enclosure on its side, all eight leveling 	
	 glides must be extended to lift the enclosure at least 2.25" off the floor. See 	
	 Adjustable Leveler Mounting for information. 

18

ZERO RMU MOUNTING, ZR1 & ZR2 KITS
Both ZR bracket kits fit on the 32"W & 40"W EN Enclosures. These allow for 
"0" RMU mounting of 19" rack mount power strip units or other 1 or 2 RMU 
equipment (such as patch panels). Install the bracket onto the rail or post 
toward the side panel. It is important to ensure you have 18.3" between the 
inner holes for 19" mounting.

ZR1 KIT

ZR2 KIT

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

ZR1 KIT

ZR2 KIT

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

2 BOTTOM 1/4-20 BOLTS AND
RE-INSTALL THROUGH BOTTOM

SLOTS IN CASTER PLATE BRACKET

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

2 BOTTOM 1/4-20 BOLTS AND
RE-INSTALL THROUGH BOTTOM

SLOTS IN CASTER PLATE BRACKET

19

CAUTION : Do not overextend the leveling glides past 3" total height. This 	
could remove the leveling glide completely causing the enclosure to be 
unstable. (Tip enclosure over if desired to avoid this risk)
3.	 In the bottom corner of each enclosure, on the left and right side of the main 	
	 support posts, there are four ¼-20 flat head bolts.
4.	 One corner at a time, use an allen wrench to loosen or remove the two 	
	 BOTTOM ¼-20 flat head bolts. Do not loosen or remove remaining two 
	 TOP ¼-20 bolts.
5.	 Locate notches in the bottom of each caster bracket assembly, slide these 	
	 notches over the existing ¼-20 bolts or replace the bolts with two flanged 	
	 head bolts (included), if preferred.
6.	 Install four remaining ¼-20 flanged head bolts on the top of the caster 	
	 bracket assembly to the posts. Top two bolts will thread into existing threads 	
	 in post. Middle bolts should be secured with included ¼-20 flange head nuts 	
	 on opposite side of post, inside EIA.
7.	 Repeat steps 4 through 6 for the three remaining casters.
8.	 After all four casters have been installed, and enclosure is in desired 		
	 location, adjust levelers to floor to reduce movement.

CASTER MOUNTING (continued)

DO NOT transport an enclosure with casters while side panels are installed.



NETWORKING/GANGING KIT
EN Enclosures can be networked to each other using the G101EN Networking/
Ganging Kit. EN Enclosures can be networked to Great Lakes ES Cabinet/
Racks using the G101EN2ES Networking/Ganging Kit. 

Enclosures can be ganged together without side panels installed, or with a 
single side panel between two enclosures.  
When ganging enclosures without side panels, remove two plastic plugs from 
the top of each enclosure frame (one plug towards the front of the frame, one 
towards the rear of the frame). Two side panel catch brackets at the bottom of 
each enclosure frame must also be removed. Align the networking thru holes 
with both enclosures facing the same location; ensure that enclosures are level 
(See “Adjustable Leveler Mounting”) . Install ganging hardware, as shown in 
Detail A. 

When ganging enclosure with a single side panel, remove two plastic plugs 
from the top of each enclosure frame and from the side panel. Remove two 
side panel catch brackets from the enclosure without side panels. Align the 
networking thru holes with both enclosures facing the same direction; ensure 
that enclosures are level (See “Adjustable Leveler Mounting”) . Install ganging 
hardware as shown in Detail B. 

Note: The same hardware pack is used for ganging enclosure without side 
panels or with a single side panel. The necessary hardware for each option 
varies; there will be leftover hardware.

DETAIL  A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

DWG NO: REV

SHEET: OF

DRAWN

CHECKED & APP.

TITLE

DRAWING NOT TO SCALE

PART NUMBER:

QTY PER UNIT: 1
MATERIAL TYPE:

MATERIAL GAUGE:

FINISH:

GREAT LAKES CASE & CABINET CO., INC.
P.O. BOX 551 EDINBORO, PA 16412

PHONE (814) 734-7303 FAX (814) 734-3907
E-MAIL glcc@greatcabinets.com

Use of this document is subject to
a confidentiality and nondisclosure
agreement with Great Lakes Case
& Cabinet Co., Inc. (GLCC) and may
not be reproduced, disclosed or
utilized in whole or in part without
prior written authorization from GLCC.

NOTICE:

TOLERANCE UNLESS OTHERWISE NOTED:
ANGULAR +/- 1�
.XXXX +/- .010
.XXX +/- .015
.XX +/- .030

 .X FOR REF. ONLY

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN INCHES

DIMENSIONAL LIMITS APPLY
AFTER APPLICATION OF FINISH

INTERPRET DRAWING PER ASME Y14.5M-1994

THIRD ANGLE
PROJECTION

DATE

DATE 1 1 0CD 5/27/2011

WSS 12/8/11 I013573

G101ENX200

-

-

-

GANGING HARDWARE KIT FOR EN FRAMES

Bill of Material
REVFILE NAMEDESCRIPTIONQTYSTOCK NUMBERPART NUMBERITEM

-H02-014.ipt1/4-20 HEX FLANGE SERRATED LOCKNUT ZINC RoHS (14-20KEPPSNUT)4H02-014H02-0141
-H03-008.ipt1/4" USS FLAT WASHER, ZINC RoHS (1/4PLWSR)8H03-008H03-0082
-250-20X500SC.ipt1/4-20 x 1/2"L  HEX HEAD SCREW2H04-0071/420X1/2SC3
-250-20X625SC.ipt1/4-20 x 5/8"L  HEX HEAD SCREW2 250-20X625SC4
 -516SPLWSHR.iptWASHER, 5/16" SPLIT LOCK, ZINC PLATED2H03-002 5

REVISION HISTORY
REV DESCRIPTION DATE APPROVED

0 ECO-03435 12/8/11 CD

CABINET INSTALLATION:
 
1)  REMOVE PLASTIC HOLE PLUGS - FOUR PER FRAME.
 
2)  CONFIRM SIDE PANEL CATCH BRACKETS HAVE BEEN
     REMOVED FROM THE FRONT AND REAR ENCLOSURE
     OUTRIGGERS. (ENCLOSURES CAN NOT BE GANGED
     WITH SIDE PANEL OR SIDE PANEL CATCH BRACKETS
     INSTALLED)
     
3)  ALIGN THE NETWORKING THRU HOLES, WITH BOTH 
     ENCLOSURES FACING THE SAME DIRECTION.
 
4) INSTALL ONE FLAT WASHER ON THE 1/4-20
    BOLT, PASS THE BOLT THREADS THROUGH 
    HOLE, INSTALL SECOND FLAT WASHER, 
    LOCKWASHER AND TIGHTEN WITH 1/4-20 KEPS NUT.
 

5)  REPEAT THIS PROCESS FOR BOTH TOP NETWORKING
     HOLES.

2
2

3

2

2
4

FLAT WASHER

1/4-20 KEPS NUT1/4-20 x 5/8 (OR 1/2) BOLT

FLAT WASHER

1/4-20 BOLT

FLAT WASHER

FLAT WASHER

SPLIT LOCK WASHER

SPLIT LOCK WASHER

1/4-20 KEPS NUT

1
5

1

DETAIL  A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

DWG NO: REV

SHEET: OF

DRAWN

CHECKED & APP.

TITLE

DRAWING NOT TO SCALE

PART NUMBER:

QTY PER UNIT: 1
MATERIAL TYPE:

MATERIAL GAUGE:

FINISH:

GREAT LAKES CASE & CABINET CO., INC.
P.O. BOX 551 EDINBORO, PA 16412

PHONE (814) 734-7303 FAX (814) 734-3907
E-MAIL glcc@greatcabinets.com

Use of this document is subject to
a confidentiality and nondisclosure
agreement with Great Lakes Case
& Cabinet Co., Inc. (GLCC) and may
not be reproduced, disclosed or
utilized in whole or in part without
prior written authorization from GLCC.

NOTICE:

TOLERANCE UNLESS OTHERWISE NOTED:
ANGULAR +/- 1�
.XXXX +/- .010
.XXX +/- .015
.XX +/- .030

 .X FOR REF. ONLY

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS ARE IN INCHES

DIMENSIONAL LIMITS APPLY
AFTER APPLICATION OF FINISH

INTERPRET DRAWING PER ASME Y14.5M-1994

THIRD ANGLE
PROJECTION

DATE

DATE 1 1 0CD 5/27/2011

WSS 12/8/11 I013573

G101ENX200

-

-

-

GANGING HARDWARE KIT FOR EN FRAMES

Bill of Material
REVFILE NAMEDESCRIPTIONQTYSTOCK NUMBERPART NUMBERITEM

-H02-014.ipt1/4-20 HEX FLANGE SERRATED LOCKNUT ZINC RoHS (14-20KEPPSNUT)4H02-014H02-0141
-H03-008.ipt1/4" USS FLAT WASHER, ZINC RoHS (1/4PLWSR)8H03-008H03-0082
-250-20X500SC.ipt1/4-20 x 1/2"L  HEX HEAD SCREW2H04-0071/420X1/2SC3
-250-20X625SC.ipt1/4-20 x 5/8"L  HEX HEAD SCREW2 250-20X625SC4
 -516SPLWSHR.iptWASHER, 5/16" SPLIT LOCK, ZINC PLATED2H03-002 5

REVISION HISTORY
REV DESCRIPTION DATE APPROVED

0 ECO-03435 12/8/11 CD

CABINET INSTALLATION:
 
1)  REMOVE PLASTIC HOLE PLUGS - FOUR PER FRAME.
 
2)  CONFIRM SIDE PANEL CATCH BRACKETS HAVE BEEN
     REMOVED FROM THE FRONT AND REAR ENCLOSURE
     OUTRIGGERS. (ENCLOSURES CAN NOT BE GANGED
     WITH SIDE PANEL OR SIDE PANEL CATCH BRACKETS
     INSTALLED)
     
3)  ALIGN THE NETWORKING THRU HOLES, WITH BOTH 
     ENCLOSURES FACING THE SAME DIRECTION.
 
4) INSTALL ONE FLAT WASHER ON THE 1/4-20
    BOLT, PASS THE BOLT THREADS THROUGH 
    HOLE, INSTALL SECOND FLAT WASHER, 
    LOCKWASHER AND TIGHTEN WITH 1/4-20 KEPS NUT.
 

5)  REPEAT THIS PROCESS FOR BOTH TOP NETWORKING
     HOLES.

2
2

3

2

2
4

FLAT WASHER

1/4-20 KEPS NUT1/4-20 x 5/8 (OR 1/2) BOLT

FLAT WASHER

1/4-20 BOLT

FLAT WASHER

FLAT WASHER

SPLIT LOCK WASHER

SPLIT LOCK WASHER

1/4-20 KEPS NUT

1
5

1

20



PROTECTIVE GROUNDING
Protective grounding studs are provided along with grounding quick disconnect 
jumper wires that electrically bond the EN Enclosure doors to the EN Enclosure 
frame.

WARNING: To avoid injury to persons or loss of life, ground each EN Enclosure 
individually to the dedicated branch circuit ground.

CONNECTING MAIN PROTECTIVE GROUNDING STUD TO 
THE DEDICATED BRANCH CIRCUIT GROUND
Connect the dedicated branch circuit ground connector to the main protective 
grounding stud located inside at the bottom rear of the EN Enclosure frame 
using a listed ring or closed-loop terminal.

CONNECTING MAIN PROTECTIVE GROUNDING STUD TO 
THE PROTECTIVE BONDING CONDUCTORS
Connect the rear doors to the main protective grounding studs located inside 
at the bottom and top rear of the EN Enclosure chassis using a listed ring or 
closed-loop terminal. Connect the front door to the grounding stud located 
inside at the bottom front of the EN Enclosure frame using a listed ring or 
closed-loop terminal.

PARTS NOT BONDED TO PROTECTIVE EARTHING 
TERMINAL
The following parts are not effectively bonded to the protective earthing 
terminal: rails and front to back rail horizontals. If these parts need to be 
bonded to the protective earthing terminal, do so in accordance with Article 
250 of the National Electric Code.

21

D

D

“EN” SIDE 
PANEL

1/4 FLAT WASHER

1/4-20 
KEPS 
NUT

1/4 FLAT 
WASHER

1/4-20 X 
1-3/4 LG 
BOLT

DETAIL B



22

BAFFLE KITS
Baffle Kits create proper airflow for 
switches and side-to-side airflow 
equipment, as suggested by 
manufacturers such as CISCO. 
Cool air is channeled into the 
equipment along the right side 
and exhaust air is directed out 
along the left side of the equipment.
Kits are tool-less and easily attach 
to rails outside of the EIA mounting 
profile. Kits are unique to EN and ES 
Enclosures, creating the perfect fit 
between switch and EN Enclosure. 

ENCLOSURES FOR BAFFLE 
KITS: EN & ES ENCLOSURES
EN Enclosures are designed specifically to 
support high-density cable management needs of 
switch and network application. ES Enclosures are ideal 
for servers where cable management, cooling, and power are a necessity. 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

Recommended  
Great Lakes Enclosure

Great Lakes  
Baffle Kit Part No.

CISCO Equipment  
Dimensions

CISCO Recommended Clearances
Cabinet  

Installation 
Rack Installation 
(No Side Panels)

EN Series 
Enclosure

ES Series 
Enclosure

EN  
Baffle Kit

ES  
Baffle Kit RMU Depth

Distance from chas-
sis to inside 
of cabinet

Distance  
between racks

Distance from  
chassis to wall

7000 Series
70181 40"W  x 48"D N/A ENSAB25 N/A 25 33.1" 11.00" 6.00" 11.00"

70102 32/40"W x 48"D 30"W x 48"D N/A N/A 21 33.1" N/A N/A N/A

7009 40"W  x 48"D N/A ENSAB14A N/A 14 24.10" 11.00" 6.00" 11.00"

70043 40"W x 48"D N/A ENSAB7A N/A 7 24.00" 11.00" 6.00" 11.00"

9500 Series
9513 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14D ESSAB14D 14 28.00" 6.00" 12.00" 6.00"

95094 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14 ESSAB14 14 18.40" 2.50" 6.00" 2.50"

6500 Series
6513(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB19 ESSAB19 19 18.10" 6.00" 12.00" 6.00"

6509(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14 ESSAB14 14 18.10" 6.00" 12.00" 6.00"

6506(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB11 ESSAB11 11 18.10" 6.00" 12.00" 6.00"

Recommended  
Great Lakes Enclosure

Great Lakes  
Baffle Kit Part No.

EN Series 
Enclosure

ES Series 
Enclosure

EN  
Baffle Kit

ES  
Baffle Kit

7000 Series
70181 40"W  x 48"D N/A ENSAB25 N/A

70102 32/40"W x 48"D 30"W x 48"D N/A N/A

7009 40"W  x 48"D N/A ENSAB14A N/A

70043 40"W x 48"D N/A ENSAB7A N/A

9500 Series
9513 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14D ESSAB14D

95094 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14 ESSAB14

6500 Series
6513(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB19 ESSAB19

6509(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14 ESSAB14

6506(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB11 ESSAB11

1 Four post mounting is required with a rail placement of 24".  2 The 7010 has front to rear airflow; 
no left or right side clearance is required; when installed in a cabinet, 5.00" rear clearance is 
required



23

Although equipment may physically fit into a Great Lakes EN Enclosure, with or without brackets, customers must 
also review and comply with the equipment manufacturer’s installation and other requirements.  For example, 
the E and ES Series Enclosures, when in an open frame configuration, can physically support the installation of 
a Cisco 7018 Series switch; however, the E and ES Series Enclosure frame designs do not provide the airflow 
space clearance required by Cisco.  
Great Lakes’ EN (Enhanced Networking) Series of EN Enclosures is designed to support the installation of Cisco 
switches and other side-to-side airflow equipment.  The EN Series has the airflow space clearances that are 
currently required and has accessories (including baffle kits) that are designed to support proper operational 
conditions.  For more information, please call 1-866-TRY-GLCC.  
When any equipment or accessory is installed in a Great Lakes product, the installation procedures, 
recommendations and product warranty requirements of the equipment manufacturer must be followed.  Great 
Lakes will not be responsible for any losses or claims arising from a customer’s installation of electrical, electronic 
or other third party products in any Great Lakes Enclosure, unless caused solely by a written configuration 
prepared by Great Lakes for that customer or by a configuration provided by Great Lakes’ website, any 
configuration relies on complete and accurate information from the customer.  

CHOOSING YOUR BAFFLE KIT & ENCLOSURE
Based on your switch/equipment, choose the appropriate EN or ES Enclosure. 
Take into consideration your cable management, cooling, and power needs; 
each EN Enclosure addresses these needs in different ways. Baffle Kit part 
numbers are specific to EN or ES Enclosures.

The chart below shows which kits accommodate various CISCO switches. 
Other brands of side-to-side airflow equipment can also be mounted. To 
determine the correct EN Enclosure and baffle kit, compare physical equipment 
dimensions to what is listed.
For detailed instructions on how to install your baffle kit, please refer to the instructions provided 
with your baffle kit. These instructions are also available at werackyourworld.com

Recommended  
Great Lakes Enclosure

Great Lakes  
Baffle Kit Part No.

CISCO Equipment  
Dimensions

CISCO Recommended Clearances
Cabinet  

Installation 
Rack Installation 
(No Side Panels)

EN Series 
Enclosure

ES Series 
Enclosure

EN  
Baffle Kit

ES  
Baffle Kit RMU Depth

Distance from chas-
sis to inside 
of cabinet

Distance  
between racks

Distance from  
chassis to wall

7000 Series
70181 40"W  x 48"D N/A ENSAB25 N/A 25 33.1" 11.00" 6.00" 11.00"

70102 32/40"W x 48"D 30"W x 48"D N/A N/A 21 33.1" N/A N/A N/A

7009 40"W  x 48"D N/A ENSAB14A N/A 14 24.10" 11.00" 6.00" 11.00"

70043 40"W x 48"D N/A ENSAB7A N/A 7 24.00" 11.00" 6.00" 11.00"

9500 Series
9513 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14D ESSAB14D 14 28.00" 6.00" 12.00" 6.00"

95094 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14 ESSAB14 14 18.40" 2.50" 6.00" 2.50"

6500 Series
6513(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB19 ESSAB19 19 18.10" 6.00" 12.00" 6.00"

6509(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB14 ESSAB14 14 18.10" 6.00" 12.00" 6.00"

6506(-E) 32"W  x 42/48"D 30"W  x 42/48"D ENSAB11 ESSAB11 11 18.10" 6.00" 12.00" 6.00"

3 The 7004 requires 11.00" clearance on the right side only; exhaust exits from the rear, no rear 
clearance required.  4An additional 0.75" of height is required for rail mount brackets; brackets 
can be removed after chassis is installed. NOTE: It is important to read and understand CISCO 
installation guides that are associated with each switch.



ETSI Associate Member

Thank you 
for your 

business!

FORM: #MS - 5.02-24, REV #3


